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(6) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
1) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg
2) H$sQ>H$ZmeHo$
3) B§YZ, ñ’$moQ>Ho$
4) dm ỳ
5) IVo
6) ‘hÎdmMr agm¶Zo

1) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg

1) Imbrbn¡H$s gd© B{WbrZ Am°ŠgmB©S>Mr d¡{eï²> ò AmhoV.
1) hm 10.7°C À`m CH$iË`m q~Xygh AË §̀V ôXH$ dm ỳ Amho.
2) ho à{WZ aoUy§‘Ü ò A{‘Zmo, H$m~m}pŠgb, hm`S´m°pŠgb Am{U gë’$mhm`{S´b JQ>m§Mo AëH$m`boQ> H$ê$Z H$m ©̀ H$aVo.
3) ho Imoë`m YwÊ`mgmR>r gdm©V `mo½` Amho.
4) ho {deofV… öX` {ZOªVwH$sH$aUmgmR>r dmnabo OmVo - ’w$â’w$gmMr ‘erZ, ídgZ §̀Ì.

1) ALL of the following are characteristics of Ethylene oxide EXCEPT :

1) IIt is a highly penetrating gas with a boiling point of 10.7°C.

2) It acts by alkylating the amino, carboxyl, hydroxyl and sulfhydryl groups in protein molecules.

3) It is most suitable for fumigating rooms.

4) It is especially used for sterilising heart – lung machines, respirators.

2) aopŠQ>’$mBS> pñn[aQ>Mm dmna Imbrbn¡H$s H$moUË`m ~m~VrV pìhgoamÀ`m g§ajUmgmR>r Ho$bm OmVmo?
1) AëH$mohmob {df~mYm 2) {’$Zm°b {df~mYm
3) {ZH$moQ>rZ {df~mYm 4) n°ampëS>hmBS> {df~mYm

2) Rectified Spirit is to be used in the preservation of viscera in which of the following case?

1) Alcohol Poisoning 2) Phenol Poisoning

3) Nicotine Poisoning 4) Paraldehyde poisoning

3) Imbrbn¡H$s gd© S>mB©OÀ`m A°{Z{bZ JQ>mer g§~§{YV AmhoV.
1) M‘H$Xma {hadm 2) ‘°bmH$mBQ> {hadm 3) {H«$ñQ>b ìhm¶moboQ> 4) àmoâbopìhZ

3) ALL of the following belongs to Aniline group of dyes EXCEPT:

1) Brilliant green 2) Malachite green 3) Crystal violet 4) Proflavine

4) XmVm§À`m n¥ð>^mJmÀ`m ñdÀN>VogmR>r Qy>W~«eÀ`m ‘XVrZo  .......... bmdbo OmVmV.
1) S>pñQ>§J nmdS>a 2) g{O©H$b nmdS>a 3) S|>{Q>{’«$gog 4) BÝgwâboeZ

4) ........... are applied with the help of a tooth brush for cleaning the surface of the teeth.

1)  Dusting powder 2) Surgical powder 3) Dentifrices 4) Insufflations

5) ’$m°‘©pëS>hmBS> {df~mYoàg§Jr amgm¶{ZH$ {ZpîH«$¶Vm gmÜ¶ H$aÊ¶mgmR>r, Oa CnMmamXaå¶mZ A‘mo{Z`m dmnabm Va
......... Mr {Z{‘©Vr hmoVo.
1) n|Q>m{WbrZ hoŠgm‘mBZ 2) hoŠgm‘o{WbrZ Q>oQ´m‘mBZ 3) Q>oQ´m{WbrZ Q´m`‘mBZ 3) S>m`{WbrZ Q´m`‘mBZ
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5) During the chemical inactivation of formaldehyde poisoning, treatment with ammonia

produces.........

1) Pentaethylene hexamine 2) Hexamethylene tetramine

3) Tetraethylene triamine 3) Diethylene triamine

6) aò m°Z ho qgWo{Q>H$ V§Vy§nojm doJio Amho H$maU :
1) ho aoer‘Mo Xwgao Zmd Amho
2) bmH$S>mÀ`m bJÚmnmgyZ amgm`{ZH$ à{H«$`m H$ê$Z Vo {‘iVo.
3) ho EH$ Z¡g{J©H$ ’$m`~a Amho Am{U Vo OgoÀ`m Vgo dmnabo OmVo.
4) darbn¡H$s H$mhrhr Zmhr

6) Rayon is different from synthetic fibres because :

1) It is the other name of silk

2) It is obtained from wood pulp by chemical treatment.

3) It is a natural fibre and used as it is.

4) None of the above

7) 3D qàqQ>J‘Ü ò dmnabobo nm°{b‘a dJiVm gd© AmhoV
1) ApëOZoQ> 2) nm°bràm°{nbrZ 3) H$moboOZ 4) {ga°{‘H$

7) Polymers used in 3D printing are all except

1) Alginate 2) Polypropylene 3) Collagen 4) Ceramic

8) àmá H$aUmè`m {Odmcm AZwHy$c bm^ XoUmao A°bobmoHo${‘H$b åhUyZ AmoiIbo OmVo.
1) A°bmo‘moÝg 2) H°$amo‘moÝg 3) ’o$amo‘moZ 4) `mn¡H$s Zmhr

8) Allelochemical giving an adaptive advantage to the receiving organism is known as

1) Allomones 2) Kairomones 3) Pheromone 4) None of these

9) g§¶wJ  åhUOoM 

1) AëS>moQ´>m¶moO, EH$ H$m~m}XH$ Amho. 2) S>m¶hm¶S´>m°p³g Q´>m¶moO, EH$ H$m~m}XH$ Amho.
3) {H$Q>moQ´>m¶moO, EH$ H$m~m}XH$ Amho. 4) EH$ H$m~m}XH$ Zmhr.

9) The compound   i.e. 

1) Aldotriose, a carbohydrate 2) Dihydroxy triose, a carbohydrate

3) Ketotriose, a carbohydrate 4) Not a carbohydrate
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10) g§¶wJ 'A' Mo Obr¶ AnKQ>Z (VrZ H
2
O dmnê$Z) ¶mo½¶ n[apñWVrV Ho$bo AgVm EH$ ½bwH$moO EH$H$, EH$ ’«$w³Q´>moO

EH$H$ Am{U XmoZ J°b°³Q>moO EH$H$ V¶ma hmoVmV, Va 'A' Mo aoUwgyÌ ...... ho Amho.

1) 2) 3) 4) 

10) The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate conditions to form

a unit of glucose, a unit of fructose and two units of galactose. The molecular formula of the

compound ‘A’ is

1) 2) 3) 4) 

11)  ho g§¶wJ ...... Amho Am{U ¶mV à{Vq~{~ê${nVm§À¶m ...... OmoS>çm AmhoV.

1) {H$Q>moho³gmoO, 4 2) {H$Q>moho³gmoO, 8 3) AëS>moho³gmoO, 4 4) AëS>moho³gmoO, 8

11) The compound , is a ........... and ........... has pairs of optical isomers.

1) Ketohexose, 4 2) Ketohexose, 8 3) Aldohexose, 4 4) Aldohexose, 8

12) Imbrbn¡H$s H$moUVm n¶m©¶ g§¶wJo 'A' Am{U 'B' À¶m ~m~VrV AMyH$ Amho?

1) A Am{U B hr ’$º$ EH$‘oH$m§Mr à{Vq~{~ê${nVo AmhoV.
2) A Am{U B hr ’$º$ EH$‘oH$m§Mr {H«$¶mË‘H$ JQ> g‘gyÌr AmhoV.
3) A Am{U B hr EH$‘oH$m§Mr à{Vq~{~ê${nVo Am{U {H«$¶mË‘H$ JQ> g‘gyÌr AmhoV.
4) A Am{U B hr EH$‘oH$m§Mr à{Vq~{~ê${nVo Zmhr Am{U {H«$¶mË‘H$ JQ> g‘gyÌrhr ZmhrV.
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12) Which of the following option is correct about compounds A and B ?

1) A and B are only optical isomers of each other

2) A and B are only functional isomers of each other

3) A and B are optical as well as functional isomers of each other

4) A and B are neither optical nor functional isomers of each other

13) Imbrbn¡H$s H$moUVr g§¶wJo àH$mer¶ {H«$¶merbVm XmIdVrb?

n¶m©¶r CÎmao …
1) ’$º$ A Am{U B 2) ’$º$ A Am{U C 3) ’$º$ B Am{U C 4) darb gd©

13) Which of the following compounds will show optical activity ?

1) Only A and B 2) Only A and C 3) Only B and C 4) All of the above

14) Imbrbn¡H$s H$moUË¶m hm¶S´>moH$m~©Z‘Ü¶o 80% Q> o̧$ H$m~©Z AgVmo?
(H = 1, C = 12)

1) ~|PrZ 2) {‘WoZ 3) BWoZ 4) gm¶³bmoho³PoZ
14) Which of the following hydrocarbon has 80% carbon ?

(H = 1, C = 12)

1) Benzene 2) Methane 3) Ethane 4) Cyclohexen
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2) H$sQ>H$ZmeHo$, Am¡fYo, {dfÐì¶o

1) Am°J}ZmoŠbmoarZ H$sQ>H$ZmeH$m§Mr CXmhaUo AmhoV/AmhoV :
1) ’$º$ DDT 2) ’$º$ qbS>oZ
3) ’$º$ E§S>mogë’$mZ 4) S>rS>rQ>r, qbS>oZ Am{U E§S>mogë’$mZ

1) The example(s) of organochlorine pesticides is/are:

1) only DDT 2) only lindane

3) only endosulfan 4) DDT, lindane and endosulfan

2) K2 ho ¶m {S>Pm`Za Am¡fYm§Zm {Xbobo Zmd Amho :
1) qgWo{Q>H$ H°${WZmoÝg 2) E°å’o$Q>m‘mBÝg
3) qgWo{Q>H$ H°$Zm{~Zm°BS²g 4) Ho$Q>m‘mBÝg

2) K2 is the street name given to the designer drugs :

1) synthetic cathinones 2) amphetamines

3) synthetic cannabinoids 4) ketamines

3) B§YZ, ñ’$moQ>Ho$

1) {S>Pob OZaoQ>aÛmao dmnabo OmUmao EH$ {bQ>a B§YZ gamgar CËnmXZ H$aVo :
1) 0.7 {H$bmo CO2 2) 1 {H$bmo CO2 3) 1.7 {H$bmo CO2 4) 2.7 {H$bmo CO2

1) One litre of fuel consumed by a diesel generator produces an average of :

1) 0.7 kg of CO2 2) 1 kg of CO2 3) 1.7 kg of CO2 4) 2.7 kg of CO2

2) AmXe© AmJ-à{VamoYH$ gm‘J«rMo JwUY‘© AmhoV
a) CîUVo‘wio Ë`mMo {dKQ>Z hmoD$ Z ò.
b) Tt CîUVo‘wio OmñV à‘mUmV {dñVmê$ Z ò.
c) W§S> Pmë`mda Vo doJmZo AmHw§$MZ nmdbo nm{hOo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (A) Am{U (§~) 2) ’$º$ (§~) 3) darb gd© 4) ¶mn¡H$s Zmhr

2) The properties of ideal fire-resisting materials are

a) It should not get disintegrated due to heat.

b) Tt should not expand excessively due to heat.

c) It should contract rapidly on cooling.

Which of the above statements is/are correct ?

1) Only (a) and (b) 2) Only (b) 3) All of the above 4) None of the above

3) ‘opŠgH$moÀ`m AmImVm‘Ü ò 20 E{àb 2010 amoOr S>rndm°Q>a hmoam`PZ Am°Bb [aJ ñ’$moQ>m‘wio _______ J°bZ H$ÀÀ`m
VobmMr JiVr Pmbr.
1) gw‘mao 10 Xebj 2) 50 Xebj 3) gw‘mao 40 Xebj 4) gw‘mao 4 Xebj

3) The Deepwater Horizon oil rig explosion on 20 April 2010 in the Gulf of Mexico led to the spill

of _________ gallon crude oil.

1) about 10 million 2) 50 million 3) about 40 million 4) about 4 million
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4) Imbrbn¡H$s H$moUVo {Z §̀ÌU Am{U [abo {~pëS§>J YmoŠ`m§‘Ü ò g‘m{dï> Amho?
1) noQ´mob gmR>dU qH$dm {dVaU gw{dYm 2) B‘maVrÀ`m g§aMZoMo W‘©b ZwH$gmZ
3) Ywam‘wio BVa CnH$aUm§Mo ZwH$gmZ hmoVo 4) eº$sZo `m§{ÌH$ ZwH$gmZ

4) Which of the following is included in control and relay building hazards ?

1) Gasoline storage or dispensing facilities

2) Thermal damage caused to the building structure

3) Smoke damage caused to other equipment

4) Mechanical damage by force

5) ñ’$moQ>Ho$ H$mT>VmZm ‘yb ŷV gë’$aMm emoY `mÛmao Ho$bm OmVmo:
1) g|{Ð` gm°ëìh|Q> AH©$ 2) nmÊ`mMm AH©$
3) AëH$br AH©$ 4) nm`ar{S>Z AH©$

5) The detection of elemental sulphur during the extraction of explosives is done with:

1) organic solvent extract 2) water extract

3) alkali extract 4) pyridine extract

6) Imbrbn¡H$s H$moUVo àmW{‘H$ ñ’$moQ>H$ Amho?
1) ANFO 2) S>m`Zm‘mBQ> 3) nmam ’w$b{‘ZoQ> 4) HMX

6) Which of the following is a primary explosive?

1) ANFO 2) Dynamite 3) Mercury fulminate 4) HMX

7) Imbrbn¡H$s H$moUVo Zm`Q´m‘mBZ ñ’$moQ>H$ Amho?
1) TNT 2) RDX 3) Picric acid 4) PETN

7) Which of the following is a nitramine explosive?

1) TNT 2) RDX 3) Picric acid 4) PETN

8) C
3
H

6
N

6
O

6
 ho H$moUË`m ñ’$moQ>H$mMo amgm`{ZH$ gyÌ Amho?

1) nmam ’w$b{‘ZoQ> 2) Q>o{Q´b 3) ANFO 4) RDX

8) C
3
H

6
N

6
O

6
 is the chemical formula of which explosive?

1) Mercury fulminate 2) Tetryl 3) ANFO 4) RDX

4) dm ỳ

1) 7 ‘o 2020 amoOr Am§Y« àXoe òWo LG nm°{b‘a‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) A‘mo{Z`m 2) ŠbmoarZ 3) ~«mo‘mBZ 4) ñQ>m`arZ

1) Which gas leaked from LG Polymers at Andhra Pradesh on 7 May 2020?

1) Ammonia 2) Chlorine 3) Bromine 4) Styrene

2) 3 {S>g|~a 1984 amoOr ^monmi òWo ẁ{Z`Z H$m~m©BS> B§{S>`m {b.‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) {‘WmBb Am`gmogm`ZoQ> 2) {‘WmBb BWmBb Ho$Q>moZ
3) ’$m°ñOrZ 4) A‘mo{Z`m
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2) Which gas leaked from Union Carbide India Ltd., at Bhopal on 3 December 1984?

1) Methyl isocyanate 2) Methyl ethyl ketone

3) Phosgene 4) Ammonia

3) H$m~©Z S>m` Am°ŠgmB©S> dm ỳ ‘w»`V: _________ VÎdmZwgma AmJ {dPdVmo
1) W§S> hmoUo 2) ñ‘moX[a¨J 3) Cnmg‘ma 4) ~mînr^dZ

3) Carbon dioxide gas extinguishes fire mainly by __________ principle

1) cooling 2) smothering 3) starvation 4) evaporation

4) Imbrbn¡H$s H$moUVm dm¶y hm ’w$â’w$gmbm KmVH$ Agë¶mZo Vmo {dfmar Amho?
1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) H$m~©Z S>m`Am°ŠgmBS>
3) hm`S´moOZ gë’$mBS> 4) ho{b`‘

4) Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium

5) Imbrb dm ỳ§Mm {dMma H$am
a) CO b) EZ2Amo c) grEM Am{U Amo2 d) ŠbmoamoâbwamoH$m~©Ýg
darbn¡H$s H$moUVo h[aVJ¥h dm ỳ AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

5) Consider the following gases

a) CO b) N,O c) CH and O2 d) Chlorofluorocarbons

Which of the above are the green house gases ?

1) a only 2) a and b only 3) a,b and c only 4) a, b c and d

6) ........ ho OdiOdi g§nyU©nUo {‘WoZnmgyZ ~Zbobo Amho Oar Ë`mV BVa dm ỳ§Mm g‘mdoe H$‘r Amho. ho BWoZ, àmonoZ,
ã ẁQ>oZ Am{U n|Q>oZ AmhoV.
1) Z¡g{J©H$ dm ỳ 2) BZQ>©J°g 3) {ZAm°Z dm ỳ 4) PoZm°Z dm ỳ

6) ...... is composed almost entirely of methane although it does contain small amounts of other

gases. These are ethane, propane, butane and pentane.

1) Natural gas 2) Inertgas 3) Neon gas 4) Xenon gas

5) IVo

1) gë’o$Q> Am°’$ nmoQ>°e‘Ü ò ...........% K AgVo.
1) 42t044 2) 441046 3) 461048 4) 60 Am{U Ë`mhÿZ A{YH$

1) Sulfate of potash contains ........... % K.

1) 42t044 2) 441046 3) 461048 4) 60 and above

2) gë’o$Q> Am°’$ nmoQ>°e‘Ü ò ...........% K AgVo.
1) 42t044 2) 441046 3) 461048 4) 60 Am{U Ë`mhÿZ A{YH$

2) Sulfate of potash contains ........... % K.

1) 42t044 2) 441046 3) 461048 4) 60 and above
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3) S>m`hm`SóQ> nm°brhbmBQ> Imbrbn¡H$s EH$ Amho.
1) H$sQ>H$ZmeH$ 2) VUZmeH$ 3) IVo 4) darbn¡H$s Zmhr

3) Dihydrate polyhalite is one of the following.

1) Insecticide 2) Herbicide 3) Fertilizer 4) None of the above

4) Imbrb {dYmZm§n¡H$s H$moUVo/`mo½`/AmhoV?
A) ‘moZmoH°$pëe`‘ ’$m°ñ’o$Q> ho nmÊ`mV {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
~) {S>H°$pëe`‘ ’$m°ñ’o$Q> ho gm`{Q´H$ A°{gS> {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
H$) Q´m`H°$pëe`‘ ’$m°ñ’o$Q> ho AKwbZerb ’$m°ñ’$mo[aH$ A°{gS> Amho.
S>) gwna ’$m°ñ’o$Q>, {Q́nb gwna ’$m°ñ’o$Q> Am{U A‘mo{Z`‘ ’$m°ñ’o$Q>‘Ü ò ’$m°ñ’$mo[aH$ A°{gS>À`m CnbãY ñdê$nmV P AgVmo.
n`m©¶r CÎmao :
1) ’$º$ A 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

4) Amongst the following statement/s which is/are correct ?

a) Monocalcium phosphate is water soluble phosphoric acid.

b) Dicalcium phosphate is citric acid soluble phosphoric acid.

c) Tricalcium phosphate is insoluble phosphoric acid.

d) Super phosphate, triple super phosphate and ammonium phosphate contain P in the available

form of phosphoric acid.

Answer options :

1) a only 2) b only 3) a,b and c only 4) a, b, c and d

5) Imbrb IVm§n¡H$s Oo g|{Ð` IVo åhUyZ AmoiIbo OmVo/Vo?
A) A‘mo{Z`‘ Zm`QóQ> ~) H°$pëe`‘ A‘mo{Z`‘ Zm`QóQ>
H$) ẁ[a`m S>) H°$pëe`‘ gm`ZmBS>
n`m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

5) Among the following fertilisers which is/are also known as organic fertilisers ?

a) Ammonium nitrate b) Calcium ammonium nitrate

c) Urea d) Calcium cyanide

Answer options :

1) a only 2) a and b only 3) a, b and c only 4) c and d only

6) ‘hÎdmMr agm¶Zo
1) nmoQ>©b±S> {g‘|Q> H$moUË`m Vmn‘mZmV KQ>H$ OmiyZ V`ma Ho$bo OmVo?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

1) Portland Cement is produced by burning ingredients at what temperature ?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

2) H§$nZ Ho$boë`m H$m±H«$sQ>gmR>r KgaUrMr H$moUVr loUr ({‘‘r‘Ü ò) ñdrH$mabr OmB©b?
1) 12 Vo 25 2) 50 Vo 100 3) 5 Vo 10 4) 25 Vo 50

2) Which range of slump (in mm) shall be adopted for vibrated concrete ?

1) 12 to 25 2) 50 to 100 3) 5 to10 4) 25 to 50
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3) Am°Bb n|Q>‘Yrb ~og Aer H$m }̀ H$aVmo
a) n|Q>bm AnmaXe©H$Vm XoVo.
b) Kf©UmMm à{VH$ma dmT>dVo.
c) g§H$moMZ H«°$H$ V`ma hmoÊ`mg à{V~§Y H$aVo.
darbn¡H$s H$moUVo ’§$ŠeZ ~amo~a Amho/AmhoV?.
1) darb gd© 2) ’$º$ (a) 3) ’$º$ (a) Am{U (c) 4) ’$º$ (b)

3) A base in an oil paint performs functions such as

a) Gives opacity to the paint.

b) Increases resistance to abrasion.

c) Prevents formation of shrinkage cracks.

Which of the above function/s is/are correct ?.

1) All of the above 2) Only (a) 3) Only (a) and (c) 4) Only (b)

4) ‘moaMyX ho H$moUË¶m AmOmamMo {ZXmZ H$aVmZm aº$ VnmgUrH$[aVm dmnaVmV?
1) ’w$ß’w$gmMm Xmh 2) aº$j¶ 3) {df‘Áda 4) {hdVmn

4) Blue vitriol is used in the blood test for diagnosis of which disease ?

1) Pneumonia 2) Anaemia 3) Typhoid 4) Malaria

5) A/An ______   ‘Ü ò n¥ð>^mJmgh gd© n|Q> KQ>H$ AgVmV.
1) ~mBªS>a 2) gm°ëìh|Q> 3) S´m`a 4) {dñVmaH$

5) A/An ______ holds all paint components together with the surface.

1) binder 2) solvent 3) drier 4) extender

6) BZ°‘b n|Q²g‘Ü ò H«$m°g-qbHo$O ~m°ÊS²gMr {Z{‘©Vr `mÛmao {Z §̀{ÌV Ho$br OmVo:
1) ’$º$ Vmn‘mZ 2) ’$º$ Am°pŠgS>oeZ
3) ’$º$ B{Z{eEQ>g© 4) Vmn‘mZ, Am°pŠgS>oeZ Am{U B{Z{eEQ>g©

6) The formation of cross-linkage bonds in enamel paints is governed by:

1) only temperature 2) only oxidation

3) only initiators 4) temperature, oxidation and initiators

7) 'AmoH«o$' S>mB©Mm dmna Q>°Qy>‘Ü ò Imbrbn¡H$s H$moUVm a§J XoÊ`mgmR>r Ho$bm OmVmo?
1) H$mim 2) Vn{H$ar 3) amImS>r 4) {Zim

7) ‘Ochre’ dye is used to impart which of the following colors in tattoo marks?

1) Black 2) Brown 3) Grey 4) Blue

8) H°$‘b ~«eZo ngabobr A°ë ẁ{‘{Z`‘Mr Yyi qàQ>À`m {g~°{e`g òmdmbm {MH$Qy>Z amhVo Am{U H$moUË`m àH$maÀ`m
n¥ð>^mJmdarb H$S>çm§Zm R>iH$nUo XmIdVo?
1) hbŠ`m a§JmMr n¥ð>^mJ 2) JS>X a§JrV n¥ð>^mJ
3) gpÀN>Ð n¥ð>^mJ 4) cdMrH$ n¥ð>^mJ

8) Aluminium dust spread over with camel brush, adheres to the sebaceous secretion of the print

and makes prominent the ridges over which kind of surface?

1) Light colored surface 2) Dark colored surface

3) Porous surface 4) Pliable surface
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9) {dkmZmMm Imbrbn¡H$s H$moUVm Ñ{ï>H$moZ nÕVera {ZarjUm§da Adb§~yZ AgVmo?
1) AZŵ ddmX 2) ~w{ÕdmX
3) {ZYm©admX 4) d¡̀ {º$H$ AZŵ d

9) Which of the following approaches of science relies on systematic observations ?

1) Empiricism 2) Rationalism

3) Determinism 4) Personal experience

CÎmao … (6) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

1) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg

1-3 2-3 3-4 4-3 5-2 6-2 7-2 8-2 9-4 10-3
11-1 12-2 13-2 14-3

2) H$sQ>H$ZmeHo$, Am¡fYo, {dfÐì¶o

1-4 2-1

3) B§YZ, ñ’$moQ>Ho$

1-4 2-1 3-4 4-1 5-2 6-2 7-3 8-4

4) dm ỳ

1-4 2-1 3-2 4-1 5-4 6-1

5) IVo

1-1 2-1 3-3 4-4 5-4

6) ‘hÎdmMr agm¶Zo

1-4 2-1 3-1 4-2 5-1 6-2 7-2 8-2 9-1


